

**CERTAIN FRACTIONAL CALCULUS OPERATORS ASSOCIATED WITH
FOX-WRIGHT GENERALIZED HYPERGEOMETRIC FUNCTION**

By

Renu Jain

School of Mathematics and Allied Sciences
Jiwaji University, Gwalior-474009, Madhya Pradesh, India
E-mail : renujain3@rediffmail.com

and

Dinesh Singh

Department of Applied Mathematics, ITM Gwalior-474001
Madhya Pradesh, India
E-mail : dinesh2006_tomar@yahoo.com

(Received : December 20, 2009; Revised : May 15, 2010, Final Form : October 10, 2011)

ABSTRACT

In this paper Riemann-Liouville fractional integral and derivative formulas for Fox-Wright ${}_p\phi_q(z)$ generalized hypergeometric functions are obtained. Some special cases of the established formulas are also discussed.

2000 Mathematics Subject Classification : 26A33, 45D05.

Keywords : Fox-Wright generalized hypergeometric Function, Riemann-Liouville fractional Integral and differential.

1. Introduction. The Fox-Wright generalized hypergeometric ${}_p\phi_q(z)$ for $z \in \mathbb{C}$ is defined in series form as [4].

$${}_p\phi_q(z) = {}_p\phi_q \left[\begin{matrix} (a_i, A_i)_{1,p} \\ (b_i, B_j)_{1,q} \end{matrix} \middle| z \right] = \sum_{k=0}^{\infty} \frac{\prod_{i=1}^p \Gamma(a_i + A_i k) z^k}{\prod_{i=1}^q \Gamma(b_i + B_j k) k!} \quad \dots(1.1)$$

where $a_j, b_j \in \mathbb{C}, A_i > 0, B_j > 0$

$$1 + \sum_{j=1}^q B_j - \sum_{i=1}^p A_i \geq 0; A_i, B_j \in \mathbb{R} (A_i, B_j \neq 0) (i = 1, \dots, p, j = 1, \dots, q) \text{ for suitably}$$

bounded value of $|z|$.

As special case, for $A_1 = \dots = A_p = 1, B_1 = \dots = B_q = 1$, (1.1) reduces to generalized hypergeometric function [3]

$${}_p\phi_q \left[\begin{matrix} (a_1, 1), \dots, (a_p, 1) \\ (b_1, 1), \dots, (b_q, 1) \end{matrix} \middle| z \right] = \frac{\Gamma(a_1) \dots \Gamma(a_p)}{\Gamma(b_1) \dots \Gamma(b_q)} {}_pF_q \left[\begin{matrix} a_1, \dots, a_p \\ b_1, \dots, b_q \end{matrix}; z \right] \quad \dots(1.2)$$

For $p=1, q=1, \alpha_1 = \delta, A_1 = 1, b_1 = \beta$ and $B_1 = \alpha$, (1.1) reduces to

$${}_1\Phi_1 \left[\begin{matrix} (\delta, 1) \\ (\beta, \alpha) \end{matrix} \middle| z \right] = \sum_{k=0}^{\infty} \frac{\Gamma(\delta + k)}{\Gamma(\beta + \alpha k)} \frac{z^k}{k!} = \Gamma(\delta) E_{\alpha, \beta}^{\delta}(z) \quad \dots(1.3)$$

called generalized Mittag-Leffler function defined by Prabhakar [2].

If $\delta = 1$ then (1.3) reduces to generalized Mittag-Leffler function

$${}_1\Phi_1 \left[\begin{matrix} (1, 1) \\ (\beta, \alpha) \end{matrix} \middle| z \right] = \sum_{k=0}^{\infty} \frac{\Gamma(1 + k)}{\Gamma(\beta + \alpha k)} \frac{z^k}{k!} = E_{\alpha, \beta}(z).$$

If $\delta = 1$ and $\beta = 1$ then (1.3) reduces to

$${}_1\Phi_1 \left[\begin{matrix} (1, 1) \\ (1, \alpha) \end{matrix} \middle| z \right] = \sum_{k=0}^{\infty} \frac{\Gamma(1 + k)}{\Gamma(1 + \alpha k)} \frac{z^k}{k!} = E_{\alpha}(z) \quad \dots(1.3)$$

called Mittag-Leffler function [1].

The object of this paper is to derive the relations which exist between the Fox-Wright generalized hypergeometric function ${}_p\Phi_q(z)$ and left and right side Riemann-Liouville fractional integral and differential operators.

The fractional integral and differential operators defined by Samko, Kilbas and Marichev [7] for $\alpha > 0$ are given by

$$(I_{0+}^{\alpha} f)(x) = \frac{1}{\Gamma(\alpha)} \int_0^x (x-t)^{\alpha-1} f(t) dt, \quad \dots(1.4)$$

$$(I_-^{\alpha} f)(x) = \frac{1}{\Gamma(\alpha)} \int_x^{\infty} (t-x)^{\alpha-1} f(t) dt, \quad \dots(1.5)$$

$$(D_{0+}^{\alpha} f)(x) = \frac{1}{\Gamma(1-\{\alpha\})} \left(\frac{d}{dx} \right)^{[\alpha]+1} \int_0^x (x-t)^{-\{\alpha\}} f(t) dt, \quad \dots(1.6)$$

$$(D_-^{\alpha} f)(x) = \frac{1}{\Gamma(1-\{\alpha\})} \left(\frac{d}{dx} \right)^{[\alpha]+1} \int_x^{\infty} (t-x)^{-\{\alpha\}} f(t) dt, \quad \dots(1.7)$$

where $[\alpha]$ means the maximal integer not exceeding α and $\{\alpha\}$ is the fractional part of α .

2. Properties of generalized Fox-Wright hypergeometric function.

In this section we derive several interesting properties of the generalized Fox-

Wright hypergeometric function ${}_p\phi_q(z)$ defined by (1.1) with the help of Riemann-Liouville fractional integral and derivative formula [4].

Theorem 1. Let $\alpha > 0, \beta > 0, \gamma > 0$ and $\alpha \in \mathbb{R}$, let I_{0+}^α be left sided operator of Riemann-Liouville fractional integral (1.4). Then there holds the formula

$$I_{0+}^\alpha \left\{ t^{\gamma-1} {}_p\phi_q \left[\begin{matrix} (a_i, A_i)_{1,p} \\ (b_j, B_j)_{1,q} \end{matrix} \middle| at^\beta \right] \right\} (x) = x^{\gamma+\alpha-1} {}_{p+1}\phi_{q+1} \left[\begin{matrix} (a_i, A_i)_{1,p}, (\gamma, \beta) \\ (b_j, B_j)_{1,q}, (\alpha + \gamma, \beta) \end{matrix} \middle| ax^\beta \right] \dots (2.1)$$

Proof. By virtue of (1.1) and (1.4) we have

$$I_{0+}^\alpha \left\{ t^{\gamma-1} {}_p\phi_q \left[\begin{matrix} (a_i, A_i)_{1,p} \\ (b_j, B_j)_{1,q} \end{matrix} \middle| at^\beta \right] \right\} (x) = \frac{1}{\Gamma(\alpha)} \int_0^x \sum_{k=0}^{\infty} \frac{\prod_{i=1}^p \Gamma(a_i + A_i k)}{\prod_{j=1}^q \Gamma(b_j + B_j k)} \frac{(x-t)^{\alpha-1} a^k t^{\beta k + \gamma - 1}}{k!} dt.$$

Interchanging the order of integration and summation; and evaluating the inner integral with the help of beta functions, by setting $t=xy$, we get

$$\begin{aligned} L.H.S. &= \sum_{k=0}^{\infty} \frac{\prod_{i=1}^p \Gamma(a_i + A_i k)}{\prod_{j=1}^q \Gamma(b_j + B_j k)} \frac{a^k x^{\beta k + \gamma + \alpha - 1}}{\Gamma(\alpha) k!} \int_0^1 (1-y)^{\alpha-1} y^{\beta k + \gamma - 1} dy \\ &= x^{\gamma + \alpha - 1} {}_{p+1}\phi_{q+1} \left[\begin{matrix} (a_i, A_i)_{1,p}, (\gamma, \beta) \\ (b_j, B_j)_{1,q}, (\alpha + \gamma, \beta) \end{matrix} \middle| ax^\beta \right]. \end{aligned}$$

Interchanging the order of integration and summation is permissible under the conditions stated with the theorem, due to convergence of the integral involved in the process. This completes the proof of Theorem 1.

Corollary 1.1 .For $\alpha > 0, \beta > 0, \gamma, \lambda > 0$, there holds the formula

$$I_{0+}^\alpha \left\{ t^{\gamma-1} {}_1\phi_1 \left[\begin{matrix} (\delta, 1) \\ (\gamma, \beta) \end{matrix} \middle| at^\beta \right] \right\} (x) = \Gamma(\delta) x^{\gamma+\alpha-1} E_{\beta, \alpha+\gamma}^\delta (ax^\beta) \dots (2.2)$$

Corollary 1.2 . By setting $\delta = 1$ in (2.2) there holds the formula

$$I_{0+}^\alpha \left\{ t^{\gamma-1} E_{\beta, \alpha} (at^\beta) \right\} (x) = x^{\gamma+\alpha-1} E_{\beta, \alpha+\gamma} (ax^\beta) \dots (2.3)$$

established by Saxena and Saigo [6].

Theorem 2. Let $\alpha > 0, \beta > 0, \gamma > 0$ and $\alpha \in \mathbb{R}$, let I_-^α be right operator of Riemann Liouville fractional integral (1.5). Then there holds the formula

$$I_-^\alpha \left\{ t^{-\alpha-\gamma} {}_p\Phi_q \left[\begin{matrix} (\alpha_i, A_i)_{1,p} \\ (b_j, B_j)_{1,q} \end{matrix} \middle| at^{-\beta} \right] \right\} (x) = x^{-\gamma} {}_{p+1}\Phi_{q+1} \left[\begin{matrix} (\alpha_i, A_i)_{1,p}, (\gamma, \beta) \\ (b_j, B_j)_{1,q}, (\alpha + \gamma, \beta) \end{matrix} \middle| ax^{-\beta} \right] \quad \dots(2.4)$$

Proof. By virtue of (1.1) and (1.5), we have

$$I_-^\alpha \left\{ t^{-\alpha-\gamma} {}_p\Phi_q \left[\begin{matrix} (\alpha_i, A_i)_{1,p} \\ (b_j, B_j)_{1,q} \end{matrix} \middle| at^{-\beta} \right] \right\} (x) = \frac{1}{\Gamma(\alpha)} \int_x^\infty \sum_{k=0}^\infty \frac{\prod_{i=1}^p \Gamma(\alpha_i + A_i k)}{\prod_{j=1}^q \Gamma(b_j + B_j k)} \frac{(t-x)^{\alpha-1} \alpha^k t^{-\beta k - \alpha - \gamma}}{k!} dt.$$

Interchanging the order of integration and summation and then evaluating the inner integral by beta function formula, we get

$$\begin{aligned} L.H.S. &= \sum_{k=0}^\infty \frac{\prod_{i=1}^p \Gamma(\alpha_i + A_i k)}{\prod_{j=1}^q \Gamma(b_j + B_j k)} \frac{\alpha^k}{\Gamma(\alpha) k!} \int_x^1 (t-x)^{\alpha-1} t^{-\beta k - \alpha - \gamma} dt \\ &= \sum_{k=0}^\infty \frac{\prod_{i=1}^p \Gamma(\alpha_i + A_i k)}{\prod_{j=1}^q \Gamma(b_j + B_j k)} \frac{\alpha^k}{\Gamma(\alpha) k!} \int_0^1 y^{\alpha-1} (x+y)^{-\beta k - \alpha - \gamma} dt \quad (\text{by putting } t-x=y) \\ &= x^{-\gamma} {}_{p+1}\Phi_{q+1} \left[\begin{matrix} (\alpha_i, A_i)_{1,p}, (\gamma, \beta) \\ (b_j, B_j)_{1,q}, (\alpha + \gamma, \beta) \end{matrix} \middle| ax^{-\beta} \right] \quad (\text{putting } y=wx). \end{aligned}$$

Interchanging the order of integration and summation is permissible under the conditions stated with the theorem, due to convergence of the integrals involved in the process. This completes the proof of Theorem 2.

Corollary 2.1. For $\alpha > 0, \beta > 0, \gamma > 0, a \in R$, there holds the formula

$$I_-^\alpha \left\{ t^{-\alpha-\gamma} {}_1\Phi_1 \left[\begin{matrix} (\delta, 1) \\ (\gamma, \beta) \end{matrix} \middle| at^{-\beta} \right] \right\} (x) = \Gamma(\delta) x^{-\gamma} E_{\beta, \alpha+\gamma}^\delta (ax^{-\beta}). \quad \dots(2.5)$$

Corollary 2.2. By setting $\delta = 1$ in (2.5), there holds the formula

$$I_-^\alpha \left\{ t^{-\alpha-\gamma} {}_1\Phi_1 \left[\begin{matrix} (1, 1) \\ (\gamma, \beta) \end{matrix} \middle| at^{-\beta} \right] \right\} (x) = x^{-\gamma} E_{\beta, \alpha+\gamma} (ax^{-\beta}) \quad \dots(2.6)$$

established by Saxena and Saigo [6].

Theorem 3. Let $\alpha > 0, \beta > 0, \gamma, \lambda > 0$, $a \in R$ and D_{0+}^α be left sided operator of Riemann Liouville fractional integral (1.6). Then there holds the formula

$$D_{0+}^\alpha t^{\gamma-1} {}_1\Phi_1 \left[t^{\gamma-1} {}_p\Phi_q \left[\begin{matrix} (a_i, A_i)_{1,p} \\ (b_j, B_j)_{1,q} \end{matrix} \middle| at^\beta \right] \right] (x) = x^{\gamma-\alpha-1} {}_{p+1}\Phi_{q+1} \left[\begin{matrix} (a_i, A_i)_{1,p}, (\gamma, \beta) \\ (b_j, B_j)_{1,q}, (\alpha - \gamma, \beta) \end{matrix} \middle| ax^\beta \right] \dots (2.7)$$

Proof. By virtue of (1.1) and (1.6), we have

$$\begin{aligned} D_{0+}^\alpha t^{\gamma-1} {}_p\Phi_q \left[\begin{matrix} (a_i, A_i)_{1,p} \\ (b_j, B_j)_{1,q} \end{matrix} \middle| at^\beta \right] (x) &= \left(\frac{d}{dx} \right)^{[\alpha]+1} \left(I_{0+}^{1-\{\alpha\}} t^{\gamma-1} {}_p\Phi_q \left[\begin{matrix} (a_i, A_i)_{1,p} \\ (b_j, B_j)_{1,q} \end{matrix} \middle| at^\beta \right] (x) \right) \\ &= \sum_{k=0}^{\infty} \frac{\prod_{i=1}^p \Gamma(a_i + A_i k)}{\prod_{j=1}^q \Gamma(b_j + B_j k)} \frac{a^k}{\Gamma(1-\{\alpha\})k!} \left(\frac{d}{dx} \right)^{[\alpha]+1} \int_0^x (x-t)^{1-\{\alpha\}-1} t^{\beta k + \gamma - 1} dt. \end{aligned}$$

Interchanging the order of integration and summation and evaluating the inner integral by beta function formula (by setting $t=xy$), we obtain

$$\begin{aligned} L.H.S. &= \sum_{k=0}^{\infty} \frac{\prod_{i=1}^p \Gamma(a_i + A_i k)}{\prod_{j=1}^q \Gamma(b_j + B_j k)} \frac{a^k}{k!} \frac{\Gamma(\gamma + \beta k)}{\Gamma(\gamma + \beta k + 1 - \{\alpha\})} \left(\frac{d}{dx} \right)^{[\alpha]+1} x^{\beta k + \gamma - \{\alpha\}} \\ &= \sum_{k=0}^{\infty} \frac{\prod_{i=1}^p \Gamma(a_i + A_i k)}{\prod_{j=1}^q \Gamma(b_j + B_j k)} \frac{\Gamma(\gamma + \beta k)}{\Gamma(\gamma + \beta k - \alpha)} \frac{x^{\beta k + \gamma - \alpha - 1} a^k}{k!} \\ &= x^{\gamma-\alpha-1} {}_{p+1}\Phi_{q+1} \left[\begin{matrix} (a_i, A_i)_{1,p}, (\gamma, \beta) \\ (b_j, B_j)_{1,q}, (\alpha - \gamma, \beta) \end{matrix} \middle| ax^\beta \right]. \end{aligned}$$

Interchanging the order of integration and summation is permissible under the condition stated with the theorem, due to convergence of the integral involved in the process. This completes the proof of Theorem 3.

Corollary 3.1. For $\alpha > 0, \beta > 0, \gamma, \lambda > 0$, there holds the formula

$$D_{0+}^{\alpha} \left\{ t^{\gamma-1} {}_1\Phi_1 \left[\begin{matrix} (\delta, 1) \\ (\gamma, \beta) \end{matrix} \middle| at^{\beta} \right] \right\} (x) = \Gamma(\delta) x^{\gamma-\alpha-1} E_{\beta, \alpha+\gamma}^{\delta} (ax^{\beta}) \quad \dots(2.8)$$

Corollary 3.2. By setting $\delta = 1$ in (2.8) then there holds the formula

$$D_{0+}^{\alpha} \left\{ t^{\gamma-1} {}_1\Phi_1 \left[\begin{matrix} (1, 1) \\ (\gamma, \beta) \end{matrix} \middle| at^{\beta} \right] \right\} (x) = x^{\gamma-\alpha-1} E_{\beta, \alpha+\gamma} (ax^{\beta}) \quad \dots(2.9)$$

established by Saxena and Saigo [5].

Theorem 4. Let $\alpha > 0, \beta > 0, \gamma, \lambda > 0$, $\alpha \in \mathbf{R}$ and D_-^{α} be right sided operator of Riemann Liouville fractional integral (1.7). Then there holds the formula

$$D_-^{\alpha} \left\{ t^{\alpha-\gamma} {}_p\Phi_q \left[\begin{matrix} (a_i, A_i)_{1,p} \\ (b_j, B_j)_{1,q} \end{matrix} \middle| at^{-\beta} \right] \right\} (x) = x^{-\gamma} {}_{p+1}\Phi_{q+1} \left[\begin{matrix} (a_i, A_i)_{1,p}, (\gamma, \beta) \\ (b_j, B_j)_{1,q}, (\alpha + \gamma, \beta) \end{matrix} \middle| ax^{-\beta} \right] \quad \dots(2.10)$$

Proof. By virtue of (1.1) and (1.7), we have

$$\begin{aligned} D_-^{\alpha} t^{\alpha-\gamma} {}_p\Phi_q \left[\begin{matrix} (a_i, A_i)_{1,p} \\ (b_j, B_j)_{1,q} \end{matrix} \middle| at^{-\beta} \right] (x) &= \left(\frac{d}{dx} \right)^{[\alpha]+1} \left(I_-^{1-\{\alpha\}} t^{\alpha-\gamma} {}_p\Phi_q \left[\begin{matrix} (a_i, A_i)_{1,p} \\ (b_j, B_j)_{1,q} \end{matrix} \middle| at^{\beta} \right] (x) \right) \\ &= \sum_{k=0}^{\infty} \frac{\prod_{i=1}^p \Gamma(a_i + A_i k)}{\prod_{j=1}^q \Gamma(b_j + B_j k)} \frac{\alpha^k}{\Gamma(1-\{\alpha\}) k!} \left(\frac{d}{dx} \right)^{[\alpha]+1} \int_x^{\infty} (t-x)^{-\{\alpha\}} t^{-\beta k + \alpha - \gamma} dt \\ &= \sum_{k=0}^{\infty} \frac{\prod_{i=1}^p \Gamma(a_i + A_i k)}{\prod_{j=1}^q \Gamma(b_j + B_j k)} \frac{\alpha^k}{k! \Gamma(1-\{\alpha\})} \left(\frac{d}{dx} \right)^{[\alpha]+1} \int_0^{\infty} (x+y)^{-\beta k + \alpha - \gamma} y^{1-\{\alpha\}-1} dy \\ &\hspace{20em} \text{(putting } t-x=y) \\ &= \sum_{k=0}^{\infty} \frac{\prod_{i=1}^p \Gamma(a_i + A_i k)}{\prod_{j=1}^q \Gamma(b_j + B_j k)} \frac{\alpha^k \Gamma(\beta k + \gamma - [\alpha] - 1)}{k! \Gamma(\beta k + \gamma - \alpha)} \left(\frac{d}{dx} \right)^{[\alpha]+1} x^{-\beta k - \gamma + [\alpha] + 1} \quad \text{(putting } y=wx) \end{aligned}$$

$$\begin{aligned}
&= \sum_{k=0}^{\infty} \frac{\prod_{i=1}^p \Gamma(\alpha_i + A_i k) a^k \Gamma(\beta k + \gamma)}{\prod_{j=1}^q \Gamma(b_j + B_j k) k! \Gamma(\beta k + \gamma - \alpha)} x^{-\beta k - \gamma} \\
&= x^{-\gamma} {}_{p+1}\Phi_{q+1} \left[\begin{matrix} (\alpha_i, A_i)_{1,p}, (\gamma, \beta) \\ (b_j, B_j)_{1,q}, (\alpha - \gamma, \beta) \end{matrix} \middle| ax^{-\beta} \right].
\end{aligned}$$

Interchanging the order of integration and summation is permissible under the condition stated with the Theorem, due to convergence of the integral involved in the process. This completes the proof of Theorem 4.

Corollary 4.1. For $\alpha > 0, \beta > 0, \gamma, \lambda > 0$, there holds the formula

$$D_-^\alpha \left\{ t^{\alpha-\gamma} {}_1\Phi_1 \left[\begin{matrix} (\delta, 1) \\ (\gamma, \beta) \end{matrix} \middle| at^{-\beta} \right] \right\} (x) = \Gamma(\delta) x^{-\gamma} E_{\beta, \alpha-\gamma}^\delta (ax^{-\beta}) \quad \dots(2.11)$$

Corollary 4.2 . For $\delta = 1$, (2.11) takes the form

$$D_-^\alpha \left\{ t^{\alpha-\gamma} {}_1\Phi_1 \left[\begin{matrix} (1, 1) \\ (\gamma, \beta) \end{matrix} \middle| at^{-\beta} \right] \right\} (x) = x^{-\gamma} E_{\beta, \alpha-\gamma} (ax^{-\beta}) \quad \dots(2.12)$$

established by Saxena and Saigo [6].

Acknowledgements

The authors are thankful to the referee for his valuable suggestions to bring the paper in its present form.

REFERENCES

- [1] A.A. Kilbas, M. Saigo and R.K. Saxena, Generalized Mittag-Leffler function and generalized fractional calculus operators, *Integral Transform. Spec. Funct.*, **15** (2004), 31-49.
- [2] T.R. Prabhakar, A singular integral equation with a generalized Mittag-Leffler function in the kernel, *Yokohama Math. J.*, **19** (1971), 7-15.
- [3] E.D. Rainville, *Special Functions*, Macmillan Co., New York (1960); Reprinted : Chelsea Publ. Co. Bronx, New York 1971.
- [4] J. Ram and S. Chandak, Unified fractional derivative formula for the Fox-Wright generalized hypergeometric function, *Proc. Nat. Acad. Sci., India Sect A*, **79** (2009), 51-57.
- [5] H.M. Srivastava, Some Fox-Wright generalized hypergeometric function and associated families of convolution operators; *Applicable Analysis and Discrete Mathematics*, **1** (2007), 56-71.
- [6] R.K. Saxena and M. Saigo, Certain properties of fractional operators associated with

generalized Mittag-Leffler function, *Fractional Calculus and Applied Analysis*, **8** (2005), 141-154.

- [7] S.G. Samko, A.A. Kilbas and O.I. Marichev, *Fractional Integrals and Derivative Theory and Applications*, Gordon and Breach New York (1993).

LIE THEORY AND BASIC GAUSS POLYNOMIALS

By

Kishan Sharma

Department of Applied Mathematics

NRI Institute of Technology and Management, Gwalior-474001

Madhya Pradesh, India

E-Mail: drkishan010770@yahoo.com, drkishansharma2006@rediffmail.com

and

Renu Jain

School of Mathematics and Allied Sciences

Jiwaji University, Gwalior-474009, Madhya Pradesh, India

E-mail : renujain3@rediffmail.com

*(Received : May 15, 2010, Revised: October 15, 2011)***ABSTRACT**

In the Present paper, an attempt has been made to bring basic hypergeometric functions within the purview of Lie theory by constructing a dynamical symmetry algebra of basic hypergeometric function ${}_2\phi_1$. Multiplier representation theory is then used to obtain generating function for basic analogue of Gauss polynomial. The results obtained in this paper are extensions of the results derived earlier by Miller [3] and Sarkar-Chatterjea [4].

2000 Mathematics Subject Classification : Primary 60E07, 20G05; Secondary 33C55, 14A17.

Keywords : Lie algebra, Generating function, Basic Gauss polynomials.

1. Introduction. The q -analogue of the Gauss functions or Heine's series [1] may be written as

$${}_2\phi_1(a, b; c; q; x) = \sum_{n=0}^{\infty} [a; q, n][b; q, n] / [c; q, n][n; q]! \quad (c \neq 0, -1, -2, \dots)$$

where $|q| < 1$ and $|x| < 1$.

Here $[a; q, n]$ and $[n; q]!$ are respectively the basic Pochhammer's symbol and basic factorial function defined as $[a; q, n] = [a; q][a+1; q] \dots [a+n-1; q]$ and $[n; q]! = [1; q][2; q] \dots [n; q]$.

The basic differential operator $B_{q,x}^{\wedge}$ is defined by [1] through the relation

$$B_{q,x}^{\wedge} \phi(x) = \{\phi(qx) - \phi(x)\} / x(q-1). \quad \dots (1.1)$$

2. The Dynamical Symmetry Algebra of ${}_2\phi_1$. The dynamical symmetry

algebra of the hypergeometric function has been defined by Miller [2]. We use the same technique to define the dynamical symmetry algebra of ${}_2\phi_1$. Let

$$\phi_{\alpha,\beta,\gamma,q} = \Gamma_q(\gamma - \alpha)\Gamma_q(\alpha)/\Gamma_q(\gamma) \cdot {}_2\phi_1[\alpha,\beta;\gamma;q;x]s^\alpha u^\beta t^\gamma \quad \dots(2.1)$$

be the basis elements of a subspace of analytical functions of four variables x,s,u and t , associated with Heine's basic hypergeometric function of Heine's series ${}_2\phi_1$. Introduction of variables s,u and t renders differential operators independent of parameters α,β and γ and thus facilitates their repeated operation.

The dynamical symmetry algebra of ${}_2\phi_1$ is a 15-dimensional complex Lie algebra isomorphic to $sl(4)$, generated by twelve E^\wedge -operators termed as raising or lowering operators in view of their effect of raising or lowering the corresponding suffix in $\phi_{\alpha\beta\gamma,q}$. The E^\wedge -operators are

$$\begin{aligned} \text{(i)} \quad E_{-\alpha,q}^\wedge &= s^{-1}(x(1-x)B_{q,x}^\wedge + tB_{q,t}^\wedge - sB_{q,s}^\wedge - xuB_{q,u}^\wedge), \\ \text{(ii)} \quad E_{-\beta,-\gamma,q}^\wedge &= u^{-1}t^{-1}(x(1-x)B_{q,x}^\wedge - xsB_{q,x}^\wedge + tB_{q,t}^\wedge - 1), \end{aligned} \quad \dots(2.2)$$

The action of these operators on $\phi_{\alpha\beta\gamma,q}$ is given by

$$\begin{aligned} E_{-\alpha,q}^\wedge \phi_{\alpha,\beta,\gamma,q} &= [\alpha - 1; q] \phi_{\alpha,q,\beta,\gamma,q}^{-1} \\ E_{-\beta,-\gamma,q}^\wedge \phi_{\alpha,\beta,\gamma,q} &= [\gamma - \alpha - 1; q] \phi_{\alpha,\beta,q,\gamma,q}^{-1} \end{aligned} \quad \dots(2.3)$$

The upper factor in each bracket is to be associated with plus sign and lower with minus sign. Twelve E -operators together with three maintenance operators $J_\alpha, J_\beta, J_\gamma$ and Identity operator I form a basic for $gl(4) \cong sl(4)(I)$, where (I) is the 1-dimensional Lie algebra generated by 1.

Here

$$J_{\alpha,q}^\wedge = sB_{q,s}^\wedge J_{\beta,q}^\wedge = uB_{q,u}^\wedge J_{\gamma,q}^\wedge = tB_{q,t}^\wedge \quad \text{and} \quad I^\wedge = 1 \quad \dots(2.4)$$

with the results

$$\begin{aligned} J_{\alpha,q}^\wedge \phi_{\alpha,\beta,\gamma,q} &= [\alpha; q] \phi_{\alpha,\beta,\gamma,q}, \\ J_{\beta,q}^\wedge \phi_{\alpha,\beta,\gamma,q} &= [\beta; q] \phi_{\alpha,\beta,\gamma,q}, \\ J_{\gamma,q}^\wedge \phi_{\alpha,\beta,\gamma,q} &= [\gamma; q] \phi_{\alpha,\beta,\gamma,q}, \end{aligned}$$

and

$$I^\wedge \phi_{\alpha,\beta,\gamma,q} = \phi_{\alpha,\beta,\gamma,q}. \quad \dots(2.5)$$

3. The Generating Functions for Basic Analogues of Gauss Polynomials. On comparing the results obtained by the action one parameter subgroup $(\exp_q aE_{-\alpha,-\gamma,q}^\wedge)$ generated by the operator $E_{-\alpha,q}^\wedge$ defined in (2.2) on $\phi_{\alpha,\beta,\gamma,q}$ defined in (2.1) and direct expansion, we get the identity

$$\begin{aligned} & [st/(ax+st)]^\beta [a/(st+1)]^{\gamma-1} {}_2\Phi_1[\alpha, \beta; \gamma; q; x(a+st)/(ax+st)] \\ & = \sum_{m=0}^{\infty} a^m [\gamma-m; q]_m / [m; q]! {}_2\Phi_1[\alpha q^{-m}, \beta; \gamma; q^{-m}; q; x] (st)^{-m} \dots (3.1) \end{aligned}$$

Taking, $\alpha \rightarrow 0, \beta \rightarrow \lambda + \mu + m - 1, \gamma \rightarrow q^{\lambda+m}, st \rightarrow 1, a \rightarrow 1$, we get

$$(1+x)^{1-\lambda-\mu} [2; q]^{\lambda-1} = \sum_{m=0}^{\infty} [\gamma; q]_m / [m; q]! {}_2\Phi_1[-m, \lambda + \mu + m - 1; \lambda; q; x] \dots (3.2)$$

By definition of basic Gauss polynomial [1]

$$G_m^{\lambda, \mu}(q; x) = {}_2\Phi_1[-m, \lambda + \mu + m - 1; \lambda; q; x],$$

where $\lambda \neq 0, -1, -2, 3, \dots$ (3.3)

Using (3.3) in (3.2), we get the generating function

$$(1+x)^{1-\lambda-\mu} [2; q]^{\lambda-1} = \sum_{m=0}^{\infty} [\gamma; q]_m / [m; q]! G_m^{\lambda, \mu}(q; x)$$

for basic Gauss polynomials.

Acknowledgement

The authors are very much thankful to the referee for giving useful suggestions in the improvement of the paper.

REFERENCES

- [1] H. Exton, *q-Hypergeometric Functions and Applications*. Ellis Horwood Limited, John Wiley and Sons, New York, Brisbane, Chichester and Toronto (1983).
- [2] W.Jr. Miller, *Lie Theory and Special Functions*, Academic Press. New York (1968).
- [3] W. Jr. Miller : *Lie Theory and Generalization of Hypergeometric Functions*, *SIAM. J. Appl. Math.*, **25** No. 2 (1973).
- [4] S. Sarkar and S.K. Chatterjea, Extensions of a class of bilateral generating relations for certain special functions by group theoretic method, *Pure Math. Manuscript*, **9** (1990-91), 251-259.